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Quiz Date: 16th June 2020 

Directions (1-15): In the questions given below a statement is given with two blanks in it. For each 
blank three alternatives are provided in the corresponding columns. Choose the alternative from 
the corresponding column that would fit the respective blank to make the given sentence 
grammatically correct and contextually meaningful. 
 
Q1. Estonia is the latest in a _____________ of countries to create a so-called “digital nomad 
visa” in the hopes of _____________ remote workers to live — and, of course, spend money — 
inside their borders. 
  

(A) Later  (D) Befitting  

(B) Handful  (E) Attracting   

(C) Most  (F) Benefitting  

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q2. Kleindienst Group _____________ the $5 billion master-planned tourism island 
_____________ that came a long way since its original concept was launched in 2008.  
 

(A) Developed  (D) Destination 

(B) Surpassed  (E) Destined 

(C) Alleviated  (F) Endpoint  

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q3. Farber made the _____________ to leave this world behind after _____________ a disc in 
his back while in Buffalo in the dead of winter. 
 

(A) Decision (D) Rupturing   

(B) Problem  (E) Braking  

(C) Upset  (F) Stepping 

 
(a) B-E 
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(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q4. Banks _____________ to find a “golden nugget” about each customer that they can use to 
_____________ their time with you. 
 

(A) Strive  (D) Endorse   

(B) Brink  (E)  Overspend  

(C) Reject  (F) Customize   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q5. It can be _____________ figuring out where to start when _____________ on a customer 
service overhaul/customer service turnaround effort. 
 

(A) Sanction  (D) Decreasing   

(B) Mesmerizing  (E) Intensifying  

(C) Tricky  (F) Embarking   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q6. The beginning of a/an _____________ is more memorable than the middle, due to the 
psychological _____________ called the primacy effect. 
 

(A) Interaction  (D) Reality   

(B) Recede  (E) Accumulate   

(C) Approve  (F) Dungeon  

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
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(e) A-E  
 
Q7. More customers than ever are _____________ with serving themselves, but only if your self-
service is well designed and _____________ . 
 

(A) Comfortable  (D) Usefulness  

(B) Driving  (E) Discretion   

(C) Eager  (F) Intuitive   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  

 
 

 

 
Q8. PPP funding threw a _____________ to small business owners, and much of the economy 
has begun to _____________ . 
 

(A) Lifeline (D) Vanity   

(B) Guide  (E) Liberty  

(C) Apathy (F) Reopen   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q9. As the landscape has _____________ and new technologies have become available — and 
more affordable — businesses have found more _____________ ways to get the word out about 
what they do.  
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(A) Patience  (D) Escalated 

(B) Shifted  (E) Effective   

(C) Shrieked  (F) Enlarge  

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
 
Q10. On a _____________ stretch of ocean ten miles northeast of Martha’s Vineyard lies the 
watery grave of America’s first major _____________ wind farm.  
  
 

(A) Windy  (D) Offshore   

(B) Symmetrical  (E) Abnormal   

(C) Distrust  (F) Lush  

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q11. Since the March _____________ , the midstream sector of the oil and gas industry has 
_____________ most of its losses. 
 

(A) Lack  (D) Quicken  

(B) Bleaks  (E) Lessened  

(C) Lows  (F) Recovered   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q12. The company _____________ billions of dollars of revenue from selling and leasing 
futuristic 18-wheelers and pickups that _____________  no tailpipe pollution.   
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(A) Anticipates  (D) Fault  

(B) Continues  (E) Persist   

(C) Slips  (F) Emit   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
 
Q13. Fuel cell technology, which _____________ electricity in a chemical reaction involving 
hydrogen and oxygen with only water _____________ as a byproduct, has been around since the 
1960s.   
 

(A) Makes (D) Bodies  

(B) Worries  (E) Vapour   

(C) Worsens  (F) Importance  

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q14. China’s explosive growth in the first decade of this century _____________ expectations 
that its trajectory could be _____________ by other large emerging markets.  
 

(A) Agreed  (D) Disciplined  

(B) Burdened  (E) Excused   

(C) Stimulated  (F) Duplicated   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  
 
Q15. There is no _____________ as to why China will soon overtake the U.S. as the world’s 
leading technological, economic and military superpower if current _____________ continue.  
 

(A) Mystery (D) Scarcities  
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(B) Subdue  (E) Businesses   

(C) Flatten  (F) Trends   

 
(a) B-E 
(b) A-D 
(c) A-F 
(d) C-F 
(e) A-E  

 
 

Solutions  
S1. Ans. (a) 
Sol. B-E would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (a) is the right answer choice. 
 
S2. Ans. (b) 
Sol. A-D would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (b) is the right answer choice. 
 
S3. Ans. (b) 
Sol. A-D would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (b) is the right answer choice. 
 
S4. Ans. (c)  
Sol. A-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (c) is the right answer choice. 
 
S5. Ans. (d) 
Sol. C-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (d) is the right answer choice. 
 
S6. Ans. (b) 
Sol. A-D would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (b) is the right answer choice. 
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S7. Ans. (c)  
Sol. A-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (c) is the right answer choice. 
 
S8. Ans. (c)  
Sol. A-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (c) is the right answer choice. 
 
S9. Ans. (a) 
Sol. B-E would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (a) is the right answer choice. 
 
S10. Ans. (b) 
Sol. A-D would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (b) is the right answer choice. 
 
S11. Ans. (d) 
Sol. C-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (d) is the right answer choice. 
 
S12. Ans. (c)  
Sol. A-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (c) is the right answer choice. 
 
S13. Ans. (e)  
Sol. A-E would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (e) is the right answer choice. 
 
S14. Ans. (d) 
Sol. C-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (d) is the right answer choice. 
 
S15. Ans. (c)  
Sol. A-F would fit the respective blank to make the given sentence grammatically correct and 
contextually meaningful.  Hence, option (c) is the right answer choice.  
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